EARAROBEEIERT — 2 N— IBISH —F

201589R 23 (k) 14mEM2H

m C2 ¥5%3m®L (xwlw | mEmml - | v @) o e
[A&4] 1 %&:250,00 H ~ 23#%&:62,500H ~ 33#%&:30,000H  43#%:20,000M  57%:12,500 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
247 S 5 | MNEEF 1:21.6 1-1-1-1 | 40.9| — 4 431 | EEFIER (EE)
11810/ TFTEZ > — % 54.0 - © ) F— LFAZ M
RTRIAYI Y IR BFA)—ET S — EvJLyRT7—L4
DS &% KIEE 21, =f/=1/= . — EFE#E (EH
2(1[1|27—>YaF1b I 55.0 1(72}:? TS 402 ° ?f; TS
R:TH—T4FAF—Y> B:AZF>758— #E %
. . . Kit—E . ~6-4- - ioiEE ()
N BTSN w7 | 5 Ao R 25 |zmEe
RivAZNTY B:iv—HLy b FIltE
o . AZmER : -8-8- — BRE R5A (EM)
4 5| BT AL — K 4 3 i 1.(222).0 9-8-8-7 | 40.5 7 (4_611) BEAT
R:TFyTRAK Biyq L NL—F LE4S
—: B B4 | BIIED 1:22.1 2-2-2-2 |41.1| — 6 510 | B#M== (ER)
5/glg|7>3AV /Ky 54.0 (1/2) (1) | B
R:¥rinqo— B:ELYR 2= FH5
57 = i i 4 | PRER 1:22.3 4-3-3-3 |41.2| — 9 420 | HAHIERS (FEHR)
6 3 74 K73—3 54.0 (3/4) (-10) LEE]) J P N#:Hf
RHIRT4 TR B:RA—bhT—4 HEERS
o2 ft 5 | BEHT 1:22.5 8-9-9-9 |40.7| — 3 450 | AARESE (k)
71718 IXINTF 54.0 (1 1/4) (-2) HigED
LY LTAN—F B:v RIS
— e K & ABB : ~5-5- - WEAELE (EH)
8 NE2 I 4 3 ok 1(.32/%4.)6 5-5-5-5 | 41.2 1 ti; ¥$§EH
RO-I TUY BAd—F LTy PRES 4535
— B4 | BREHE 1:23.6 3-4-6-8 | 42.4| — 8 461 | /MIIEH (EMB)
9|77 XA ) MNYAMT 40— 54.0 (6) (-4) (B) J P NFhf
R:T74—F4FAF—IH> BHLHIF NEF FA
1) . 4 4 | RHEEL 1:23.6 10-10-9-10 | 41.6 | — 10 | 462 |HEFER (FEl)
10l5l5 | T—FV>h—> 56.0 (7€) -3) Aok
L:2=/xLlLy b B:STNLEET KBRS
® 1—F—@EBIERL
13—+— |10,9,7,3,(4,6),1,8,2,5
20—F— 10,9,3,7,6,4,1,2,8,5
Jol=5r= 10,9,3,4,6,7,1,2,(5,8)
40—F— 10,9,3,4,(1,6),2,7,8,5
[ N5
B 10 630M 714K 1-10 1,160M e E 1-8 1,640 JEE 1-4-10 4,470
B B 10 190M4 4-10 310 B = 1-10 3,090 EE 10-1-4 29,460
1 330H 1-4 720M B H 10-1 5,550
4 1609

ABICOVWTRDTEEERROODE. TR LIV,




